B XERUGISE 1.8

i 1. Factor over the integers.

(@) 3x + 9 (b) 7x — 14

(c) 18st + 8s (d) 2xy + 5x

(e) 312 — 4t (f) 2mn — 3mnt
(g)6s — 6 (h) 8xt — Bxy + 3x

2. Factor over the integers.
) 3x%® — 6x2 — 9%

) 36t4 ~ 1613

) 18x2y — Oxy? + x2y2
NEXEE—EXE et e R
)

Q) nga == XTyB < XByS
h) 10m2n — 15mn? — 5mén?

3. Factor.

(a) 7abc — 14ab + 21a

(b) 2x6 — 4x* — 2x?

(c) 39rst — 13rs

(d) 25a%b ~ 35a?b? — 40a°>?
(e) 27abc — abed

(f) 4x7 + 8xE — 12x¢°
" (g) 24xy® = Xy — 8x2y
h) 12x2y3 — 18x3y2 — 24x2y?

{ 4. Factor

' (a) 2x(a + b) + 3(a + b)

| (b) 4t(m + n) + 5s(m + n)
(o) Bw(x — 3) + (x — 3)

L) (x + 2)(x — 2) + 3(x +2)

EXERCISE 1.5 O\

B 1. Factor.

{a)xe + 7x+ 12 (b)x®2 + 7x + 10
(c) w2 — 8w + 15 (dyx2 — 2x — 8

’ (e) x2 + 3x — 10 (f) m@ — 6m — 7
(@t — 9t + 20 (hyx2 — 2x — 24
(i) x2 + 2x — 15 tt-t-12
(k) w2 — 4w ~ 45 () r2 4 12r + 35 -
(M)x2 + 11x + 28 (n) w2 — 14w + 40
(o)yte —t - 20 (p) x2 4+ 3x — 88
(@ r + 2r — 24 )y =7y + 10
(s) x* + 7x — 30 t) 82 — 45 — 21
) 4

(
(w)x2 — 3x — 40
-(y) m?® + 16m + 63

and n.
@m-+n=-1,mn= —12
b)m +n =7 mn =10
chm+n= -2, mn =-—42
(dm+n=5 mn= -50
(e)m +n= -5 mn = —-36
fm+n=-2,mn=-10
(@m+n =15 mn = 44

EXERCISE 1.4

B 1. Complete the factoring.

a)3tla + b) + 7(a + b)

b) 5(x = 1) + 2x(x ~ 1)

c) 3x(x — 5) — 7{x — 5)

d)dm(x +y) + (x + )

y2a(m — n) — (m — n)

) 4x(2x —y) — 3(2x —y)

g) (x4 3)8 =20 +3)

h) m(x2:— x—=.1) + 3(x® — x — 1)

) 7q(x = y)= (x = y)

N
S8
oo}
(9}
o
o
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(a) ax + by + bx + ay
(b) mx + 2y + my + 2x
()Y = =tyE =y

(d)y mx — ny + my — nx
(e)ax — 3a + 3b — bx
() CX2 SENaR—ax =0

| 8. Factor.

AN 2R e = DE =

b) 4rnx + 2ny — 8my — nx
c) 10x% + 8y — 5xy — 6X
d) 15652 — 125 — 5st + 4t
g) a® + 6bc — 3ac — 2ab

(
(
(
(
(

(m+n=-12, mn = 20
M m+n=-2mn=1

) m+n=3 mn=-18
Kkm+n=0mn= —36 .
() m+n=,-8 mn=16

3. Factor ovef the integers, if possible.
(b)2%® — 7x + &
c)3w?2 — 1iw — 20 (d)6y* +y — 1

( (f) 10w2 = w — 2
(g)3x® — 3x — 4 (h)i2xa="3x =+
(i 2w + 9w + 10 (j) 2t + 7t + 6
(k) 6m2 + 13m + 9 (I) 3w? + 7t — 20
(m4m2 + 9m + 3 (n)10x2 + x — 2
(o) 8x2 + 6x — @ (p) 4t2 — 13t + 10

X4. Factor over the integers, if possible. First
remove any common factors.

(a)4x®2 — 10x + 6 (b)9m2+33m+30
Yo)8t2 + 4t + 4 (d) 16y2 — 10y — 21
(e)12y2 — 17y + 6  (f) 20x® + 46x + 24
@) 5m2 + 30m + 30 Th)6x2 — 6x — 21

() 12x2 —.2x ~ 30 (j) 6t + 13t — 28



EXERCISE 1.8

A 1. Factor.
(@) x2 — 8x + 16
(b) y2 + 10y + 25
(€)' xe — 16
(d)y m2 4+ 12m + 36
(e)t?2 = 49
(f) w2 — 14w + 49
(g) x2 — 20x + 100
(h) s — 1
(i) SR ks 2y
2. Factor
(a)4x® — 9
(b) 36y2 — 49
(c) 100x2 — 81
(dy1 — 16y?
(e)121y? — 4
(f) 9m2 — 1

B 3. Factor

a) 16x2 — 49y?

b) 4m? + 12mn + 9n2
{c) 36s% — B0st + 25t2
d) 81p? + 144pg + 64q3
(e) 9d? — 25y2

f

(g) 25a% + 30ab + 9b?
h) 49s? — 56st + 16t2
(i) 100m2 — 121n2

4. Factor.
{(a) 49x%y? — 472
(b) 25m2n? + 40mnt + 16t?
) 36x6 — 25y¢

) 4x8y4 ~ 2Bx%y2 + 49

)

fE86st 4+ BOSEt + 281", -
g) 0.25x2 — 0.64y?
h) 1.44s2 + Bst? + 6.25t4

5. Factor.

B = YE 16
(b) (s + 3t)2 — 9
~(c) (a + 2b)2 — 144
(d) (3x — 2y)2 - 25
6. Factor.
~a)48 - (2y — w)?

(o)1 == ye

16mé — 40men + 26n?

AQ) (x + Y2 — (a + b)2
(d) Bm + n)2 — (25 — 5t)2

7. Factor.

-(a) x2 + 6xy + 9y2 — 36-
b)52—83+16'—t

~(o)/p? + 2pglitgs — 25

) X2 — y2 — 14y — 49

(e)a? + 2ab + b2 — c2 + 6¢c — 9
f)m2~t-2mn+n2—sz’—-25t—’t2

8. Factor.
(a) =9y + 12y — 4
b) 2a%h — 4a? + 2ab
) —3x2 + 27

) —dxy? — dxy — X
)2x2 — 50Xy?

A{g) —p® + 6p%q — 9pg?
h) —9a2 + 32

9. Evaluate mentally.
)82 =802

) 1342 — 1332

) 932 — 832

) 4432 — 4332

C10. Factor.
(a) x4n — yen
()i =S 2XBAVET A2 yen
(C) 16x4n+z 4 24;X2n+1y4n + gysn

11. To evaluate 312 mentally, we can use a
complete square pattern.
312 can be written as
(80 + 1)?, which fits the pattern
(a + b)? = a® +.2ab + b?

312 = (30 + 1)2 -
(900 + 60 + 1)
961

Use patterns to evaluate each of the
following.

(a) 512 (b) 492

(c) 822 (d) 582
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